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Sub-Section Id : 2549896926
Question Shuffling Allowed : Yes
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Question Number : 1 Question Id : 2549896478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AR B A0S 3T 9a9 BIS 3PS gl
Options :

1. # foe

2. % fA9a

3. %98

4. % TETSC

Question Number : 1 Question Id : 2549896478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the smallest memory measurement unit.
Options :
1. % Bit
2. % Nibble
3. % Word
4. % Megabyte

Question Number : 2 Question Id : 2549897359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R Wit dTR GRT I WRIG FERI T SUIARUT ATSH-a1-aT8 HRIH TR 1 |11 & {3 J1ar 3, 39 & ¥ H FH a1 5
Options :

1. & TR

2.
3. & ITFR
4

Question Number : 2 Question Id : 2549897359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The software by which the conversion of the high-level instructions is performed line-by-line to machine level language is known as

Options :

1. % Compiler
2. % Interpreter
3. % Assembler
4. ® Debugger

Question Number : 3 Question Id : 2549897598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

YR BINS 54 TR b1 fSaTEd 82
Options :

1. % WRS

2. % 313CYC

3. % 3YC

4. % PHIfei

Question Number : 3 Question Id : 2549897598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Computer keyboard belongs to which of the following device categories?
Options :

1. % Storage

2. % Output

3. % Input

4. % Controlling

Question Number : 4 Question Id : 2549897769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

oo 7 9 = Wda ¢! § e fachiy 38 9l 7
Options :

1. % daex

2.+ fUoga

3. & UIthey

4. % fewat

Question Number : 4 Question Id : 2549897769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following individual pieces make up a bitmapped image?
Options :

1. % Vectors

2. % Pixels

3. % QGraphics

4. ® Displays

Question Number : 5 Question Id : 2549898699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%43 Excel § %R & Ueh R B U T, SR T -1 A IH & e iare R FufaRad o 9 SH-3 Foft (key) &1 SUART fsan ST
)

Options :

1. = ET\‘TCF (Insert)

2. ® AfGIRE g (Navigation buttons)

3. % CF (Tab)

4. % UG 37 S Ul 8134 (Page Up and Page Down)

Question Number : 5 Question Id : 2549898699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following keys on the keyboard are used to move the cursor up or down one screen at a time in MS Excel?
Options :
1. % Insert
2. & Navigation buttons
3. % Tab
4. % Page Up and Page Down

Question Number : 6 Question Id : 25498911535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ugan Eﬁ_ﬁﬁ (first generation) & W e . | JUGRT foaT ST % |
Options :

1. # gifoRer

2. % HISHITRR

3.+ dgH Y

4. ® RIS Tfthe (10)

Question Number : 6 Question Id : 25498911535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(A/an) were used in first generation of computer systems.
Options :

1. * transistor

2. & microprocessor

3. % vacuum tubes

4. ® integrated circuit

Question Number : 7 Question Id : 25498912985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows 8 B fdETs A STANRees Yeger d& Ugan (Yak) & fort ford swie &1 SuanT fosar oirar 82
Options :

1. % msra

2. % msra.cpl

3. % mdsched

4, % mblctr

Question Number : 7 Question Id : 25498912985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following commands is used to access Windows Memory Diagnostic Scheduler in Windows 8?
Options :

1. % msra

2. % msra.cpl

3. % mdsched

4. % mblctr

Question Number : 8 Question Id : 25498924738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafed 3 2 f5g M (Linux) $HTS &1 ITORT BIEd H SUTNTSGAT & A I3 &1 Rl o & forg fear Sirar g2
Options :

1. # &Py (script)
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2. & @’Q'I_"f(session)
3. ® 93 &ﬂg?;?f (session id)
4. % GoR 3RS (user id)

Question Number : 8 Question Id : 25498924738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following tool/command is used in Linux to record a user login session in a file?
Options :

1. % script

2. & gession

3. ® gession id

4. % yserid

Question Number : 9 Question Id : 25498929970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

saRfes | Saafee ygE yey Ul B g &9 @1 U [ g
Options :

1. # fiheei (filtering)

2. -"Eﬂﬁ?_"'[(spooﬁng)

3. & mﬁ"f (activating)

4. = W%T(dcactivating)

Question Number : 9 Question Id : 25498929970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Biometric is a method of fooling a biometric identification management system.
Options :

1. ® filtering

2. % spoofing

3. ® activating

4. ® deactivating

Question Number : 10 Question Id : 25498930221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAgfefRad MS-Excel B &1 3T3CYC &1 87

=SUMSQ (5,6,7)
Options :

1. %110

2. % 324

3. %18

4. %2

Question Number : 10 Question Id : 25498930221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the output of the following MS-Excel Formula?

=SUMSQ (5,6,7)
Options :
1. 110
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2. % 324
3. % 18
4. %2

Question Number : 11 Question Id : 25498930723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AN IR o 70 SAfGaTd ARl (articles) BT O Ufafdai w81 Srar g
Options :

1. ¥ GlSRe URe

2. % FTHC UL

3. % MO

4. % ACURE

Question Number : 11 Question Id : 25498930723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Individual articles on a blog are called as or entries.
Options :

1. * podcast posts

2. ® internet posts

3. % blog posts

4. & net posts

Question Number : 12 Question Id : 25498930981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Foe R el ot SR 3 ugaH oA & foe Fafafed & @ fewe suin fasar s g2
Options :

1. = W a9 (Computer Name)

2. & E'ET'%TE Qg—ﬂ (Internet Address)

3. % 378 U1 U39 (IP Address)

4. ® QBT Qg'ﬂ (Location Address)

Question Number : 12 Question Id : 25498930981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to identify any computer on the internet?
Options :

1. = Computer name

2. % Internet address

3. %" [P address

4. % Location address

Question Number : 13 Question Id : 25498933237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3 & T2 sfaed TR & T IR ST S AT § |

45Tg=(__7_ )
Options :
1. % 100101111
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2. % 100101110
3. %100101100
4. % 100101101

Question Number : 13 Question Id : 25498933237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the Binary equivalent of given Octal number?

457g=(_7_
Options :

1. % 100101111

2. % 100101110

3. % 100101100

4. % 100101101

Question Number : 14 Question Id : 25498933734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R § T T AR YHR HT AR {8 &1 51l 62
Options :

1. % 3fiessiae

2. % g

3. % doR A1gC

4. TS PUCS feargd

Question Number : 14 Question Id : 25498933734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A scanner incorporates a special type of camera which is made up of a
Options :

1. ®= Object

2. % chip

3. % laser light

4. % charged coupled device

Question Number : 15 Question Id : 25498933830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

- H;aé%m%ﬁwﬁ@ﬁﬁ%ﬁﬂﬁﬂaﬁaaﬁﬁzwﬁwﬁwﬁ%wuﬁwmﬁ%@
SIS

Options :

1.« Tt BTS

2. % NIC BT

3. % RRACHTS

4. % USSPl

Question Number : 15 Question Id : 25498933830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
(A/An) is a hardware which is used to increase the video memory of a computer and make its display quality more high definition.
Options :
1. % Graphics card
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2. % NIC card
3. #% Ethernet card

4. % Sound card

Question Number : 16 Question Id : 2549898161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of hacker who is a professional with expertise in cybersecurity and is authorised or certified to hack the
systems?

Options :

1. % White hat hacker
2. % Black hat hacker
3. % QGray hat hacker

4. ® Green hat hacker

Question Number : 16 Question Id : 2549898161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fraferiad # 3 H1 € S Trger JRe H fI=ivmar ara URaR 7 3R R &1 8% B3 & o siftigra a1 yforg g2
Options :

1. # ®TEC BT g

2. % &P 5T gBR

3. % YRe T

4. % P §T g

Question Number : 17 Question Id : 2549898373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A motherboard receives power good signal from which of the following devices?
Options :

1. % Switched-Mode Power Supply

2. & Registers

3. ® UPS

4. % CMOS

Question Number : 17 Question Id : 2549898373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TeRars fry fearsy 3 uraR 1 RErd U oar g2
Options :

1.« f&ges-1Is UTaR Iwirs (SMPS)

2. ® Yoy (Registers)

3. ¥ UPS

4. % CMOS

Question Number : 18 Question Id : 2549899422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If we want to print a page in horizontal orientation, then which of the following is the correct option?
Options :

1. % Landscape

2. % Portrait

3. & Wide
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4. % Broad

Question Number : 18 Question Id : 2549899422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

tﬂ% eHUH YUY A aﬁﬁf NIy (horizontal orientation) T fiie ® Eﬂ?ﬁ %, ar m = ﬁ:f-m ﬂﬁ e %?
Options :

1. o ey

2. % Uide

3. & digs

4. %3S

Question Number : 19 Question Id : 2549899445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A is a device that writes the information on a paper and produces a hard copy.
Options :

1. % printer

2. % scanner

3. ® camera
4

. % joystick

Question Number : 19 Question Id : 2549899445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T U1 f$arsy § St ST RY (information) 1 J§ TR G € 3R U grSaIdl Sael R g

Options :

1.« fliex

2.
3. % B
4,

Question Number : 20 Question Id : 2549899612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following printers emits a small amount of ozone which is hazardous to health?
Options :

1. % Inkjet

2. % Laser

3. % Dot matrix

4

. % Chain

Question Number : 20 Question Id : 2549899612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HH-91 fiex FH AT H SIS BT Ioi H1 § Sl WA & [T T 52
Options :

1. # gPpoic

# TOR S

% o

v
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Question Number : 21 Question Id : 25498910779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Communication between the operating system and a peripheral device such as a CD-ROM drive or a printer is facilitated by a(n):
Options :

1. & spooler

2. ® network card

3. % device driver

4. & application program interface

Question Number : 21 Question Id : 25498910779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gﬂ”ﬁﬁﬂﬁ@ﬁ?ﬁﬁﬁﬂﬁ%ﬂ@ﬁ@fﬁ?CD-ROM@samfﬁE?%aﬁHWﬁgﬁwﬁaﬁr@Hﬁ@fm%mmaﬁwﬁ
?

Options :

1. % TR

2. % JTqd IS

3.« {Sa2Y SRR

4. % R MUY Serthg

Question Number : 22 Question Id : 25498911111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When a router needs to send a packet to another computer/network, then it should know the:
Options :

1. % datagram

2. % path flow

3. ® transport medium

4. % 1P address

Question Number : 22 Question Id : 25498911111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e fopeft 3R B IR FHE/Acadh WR TH Udbe HolH &I ARSIl 8, ASY  TadT g1 afeyl
Options :

1. % SR

2. ¥ QY YTe (1Y Tl

3. % URag HIeH

4. -"\?fﬂétﬁQéAF(IP Address)

Question Number : 23 Question Id : 25498913433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to image compression, MPEG compression algorithm stores
Options :

1. & compression values of each entire frame

2. % only the changes from one frame to another

3. % multiple frames values together

4. ® compression values of part of each frame

Question Number : 23 Question Id : 25498913433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
@(image)@@%ﬂ?ﬁﬁ, MPEGWWW ﬁﬁmm%l
Options :
1. % e qof e & e A
2. % &I T BH I gER A T uRkacH
3. % TP BH A B Tb 1Y
4. % UJ® BH & YN & Juted A

Question Number : 24 Question Id : 25498913449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to images, the size of araw fileis _ when compared with JPEG.
Options :

1. ®= extremely small

2. % larger

3. & gmaller

4. % moderate

Question Number : 24 Question Id : 25498913449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

@ﬁﬁ(images)%ﬁ?’l—fﬁ, JPEG%WQWW“ﬁ(raW) PIENE) W__Ea?ﬂ%l
Options :

1. % 3fd BIeT

2. W d8l

3. % Bl

4. % HYYH

Question Number : 25 Question Id : 25498918483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the output of the following MS-Excel formula?

=SUMPRODUCT ({1,2,3}, {5,6,7})
Options :

1. %24

2. % 38

3. ® 251

4. % 15

Question Number : 25 Question Id : 25498918483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
13 f&d T MS-Excel B &1 3T3CYE HT ¢ |

=SUMPRODUCT ({1,2,3}, {5,6,7})
Options :

1. %24

2. % 38

3. ® 251

4. % 15

Question Number : 26 Question Id : 25498921927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
What is cipher text?
Options :
1. * Original text
2. % Ciphers
3. % Encrypted text
4. % Encryption algorithm

Question Number : 26 Question Id : 25498921927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
grghr TR (cipher text) T Eﬁ?ﬂ %‘?
Options :

1. % o CRe

2. % IRBY

3.+ UfhPE TR

4. % TpmE TERYA

Question Number : 27 Question Id : 25498922685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

__ 1isthe process of reviewing, diagnosing and identifying operational or technical problems within a hardware device or equipment.
Options :

1. ®= Hardware configuration

2. & Software troubleshooting

3. #% Software configuraton

4. % Hardware troubleshooting

Question Number : 27 Question Id : 25498922685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tt g IR fSars a1 IuRy & HidR uRee a1 de-ie ! gHwnal Bt geter, e 3R UgH o3 B ufhar g |
Options :

1. % BTORR BIBIRIA

2. % FTEdIR ¢od [T (AUeddr IadT fHaro)

3. % GIGCAWR DIBIRTA

4. + TISAW T YT (BTSITR JAT RN

Question Number : 28 Question Id : 25498924442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a process control system call in Windows Operating System?
Options :

1. * CreateProcess( )

2. & ExitProcess()

3. % WaitForSingleObject( )

4. % Control( )

Question Number : 28 Question Id : 25498924442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
79 & A -1, Windows SR e § T U wid RieH Hicd gt 82

Options :
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1. % CreateProcess( )

2. ® ExitProcess( )

3. % WaitForSingleObject( )
4. % Control( )

Question Number : 29 Question Id : 25498925370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A circuit board through which all components of a computer communicate, is called the:
Options :

1. ® Central Processing Unit

2. % Motherboard

3. % QGraphic Processing Unit

4. % Random Access Memory

Question Number : 29 Question Id : 25498925370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T e a8 o HTed ¥ $eR & JHt FHHe TR B 6, CANIGE
Options :

1. # oo Ui gfe

2. ¥ HEEIS

3. % Y1fthes TR e

4. % ISH TRY HARY

Question Number : 30 Question Id : 25498927427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is FALSE with reference to hard disk of a computer system?
Options :

1. * Ttis also called a hard disk drive.

2. & It is a magnetic storage medium.

3. % It is an optical storage medium.

4. % It is a removable disk.

Question Number : 30 Question Id : 25498927427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FHeR e &1 318 feww & I & fufoied & & &H-31 7Ted (FALSE) 82
Options :

1. % SY TS o3 gi3a M e S g

2. % U8 U 9919 LIRSl AT g |

3. + U8 UD DS TRl AIH

4. % U8 U Naeel (8eM U e 71

Question Number : 31 Question Id : 2549896631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafed & 3 HH-H, T exie Ja1 Tardr gRI <t o arelt Jar g 82
Options :

1. + 99 TSl RexA

2. % S R

3. % SIA A9 ARETHA
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4. % IUA-3T TR

Question Number : 31 Question Id : 2549896631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a service offered by an internet service provider?
Options :

1. % Web administration

2. ® Internet access

3. % Domain name registration

4. & Dail-up access

Question Number : 32 Question Id : 2549896718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 7 ¥ HH-91 fadey $exe 3R 39 XA (web documents) STIW B & o Teb A §e%B UG BT 87
Options :

1. ® 3.0

2. # SISO

3. % 3e3c gfag g sy

4. % ey

Question Number : 32 Question Id : 2549896718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options provides an easy interface to the internet and web documents?
Options :

1. % E-mail

2. % Browsers

3. ® Internet service providers

4. & Filters

Question Number : 33 Question Id : 2549897185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o &t 1T SeeIa e Y A1 G SR HH W R |

(64)10=(__7_ )
Options :

1. % 100000

2. % 10000000

3. % 1000000

4. % 10000

Question Number : 33 Question Id : 2549897185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Binary equivalent of given Decimal number is -

(64)10=(__7_ )
Options :

1. % 100000

2. % 10000000
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3. % 1000000
4. %= 10000

Question Number : 34 Question Id : 2549897424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

38 IS (Read Mode) Ta®Hed MS Word 2019 & ford ea H Iuaisyl 82
Options :

1. & ﬁ?g (Review)

2. % Y (View)

3. % fomg (Design)

4, % TG4 (References)

Question Number : 34 Question Id : 2549897424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Read Mode option is available in which tab of MS Word 2019?
Options :

1. ® Review

2. % View

3. % Design

4. % References

Question Number : 35 Question Id : 2549897883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint 2007 &, T fa=iv guTa § off a8 i o ¢ 6 3 wiss b9 W 3i1d a1 9d 999 fovd avg 9
femrg e &1

Options :

I E'lgﬂ'-'fl_"f (Transition)

2. % fUfdw

3. % YR

4. % g8 33T (Hand outs)

Question Number : 35 Question Id : 2549897883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS PowerPoint 2007, is a special effect that determines how a slide appears as it enters or leaves the screen.
Options :

1. % transition

2. ® printing

3. % animation

4. * hand out

Question Number : 36 Question Id : 2549898112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel H, T ¢ I ITYA BT ¢ OTd BRI AGd SRe Bid 7, R eI, fammgt sryar fa<ita anf o woedt W0 arat
=t (evenly spaced values) WWH’T\’%%I

Options :
1. % Y8R
2. & hy
3. W Ilgd
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4. % TRr

Question Number : 36 Question Id : 2549898112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Alan chart is suitable when category labels are text, and are representing evenly spaced values such as months, quarters or fiscal
years in MS Excel.

Options :

1. * radar
2. % surface
3. % line

4. ® area

Question Number : 37 Question Id : 2549898130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel & TRAT e (area charts) F A H DI9-91 HUF gl %?

Options :

1. % Jufadd Al &) Hed od §U A A UAD Jei & 3R BT T HRar g |

2. + TG ST THI & 1Y URTI MR B 3R T UGRT (trend) F $o Joo R & 3BT H & e fosan S g
3. % Wb P YUl B SRR BT TG0 & & (7T SHPBT YANT b1 STl 6|

4. % &g fdg O Jaifd gl § ufkad= uaiid Hrar gl

Question Number : 37 Question Id : 2549898130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true in case of area charts in MS Excel?

Options :

1. % It displays the contribution of each value to a total while emphasising individual values.
2. % It is used to plot change over time and draw attention to the total value across a trend.
3. & Tt is used to illustrate the fluctuation of stock prices.

4. *= Tt displays changes in values relative to a centre point

Question Number : 38 Question Id : 25498910616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Wﬁﬁ(document)mefﬁ,%m(dashes)%Wﬁﬁﬁmﬁﬁﬁ-mm%‘?
Options :

1. % 35 ORTUTD &1 S1eRT B & 11T SUANT fodT STl 5 |

2. + Ig U BIC! &S A5 § Sl U136 &1 A1g & sid # el 6|

3. % g TP BIc] Qs X1 § &l 0TS B! A1e b 19 Igah 5

4. % I8 & B35 4 SIS gl 3|

Question Number : 38 Question Id : 25498910616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is true with reference to dashes in writing a document?
Options :

1. * They are used to separate paragraphs.

2. % They are small horizontal lines that floats in the middle of a line of text.
3. % They are small horizontal lines that floats at the bottom of a line of text.

4. % They are shorter than a hyphen.
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Question Number : 39 Question Id : 25498910707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T 3y 3 STagdic & 3ot Sfvd arfereT (29 B T AT I8 &, d MS Word 2013 H Fgfeiad & @ eH-a1 fawed gt g
Options :

1. ®= Format -> Go to -> Table

2. % Find -> Go to -> Table

3. & Select -> Go to -> Table

4. % Delete -> Go to -> Table

Question Number : 39 Question Id : 25498910707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you want to directly search your desired table in your document, which of the following will be the correct steps in MS Word 2013?
Options :

1. % Format -> Go to -> Table

2. % Find -> Go to -> Table

3. ® Select -> Go to -> Table

4. % Delete -> Go to -> Table

Question Number : 40 Question Id : 25498911087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word § thi-¢ HTUA &1 fSthice SdTs &1 52
Options :

1. ® 39

2. % fUoga

3. % IR

4. % WISC

Question Number : 40 Question Id : 25498911087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the default measurement unit of fonts in MS Word?
Options :

1. * Inches

2. = Pixels

3. & Centimetres

4. % Points

Question Number : 41 Question Id : 25498911454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 &% T & fFRafafead & @ «F a1 fawe 9a 82

Options :

1. % g1 Re guT g 9ohd |

2. % TP ¢F T Taferd e & Hs TUg 8 &

3. & MS-Word 2019 ¢s8 & Rie? & SoT10 Ueh URURS T Red &1 IUdIT ol g |
4.« RET R Pad 1 28|

Question Number : 41 Question Id : 25498911454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following is true with reference to MS-Word 2019?
Options :
1. % We cannot hide Ribbon
2. % Each tab contains several groups of related commands
3. % MS-Word 2019 uses a traditional menu system instead of tabbed Ribbon system
4. & There is only 1 tab on the ribbon

Question Number : 42 Question Id : 25498911474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafea & @ sH-aruar (address) MS Excel e & sdt ufaa (row) 3R 38 Braw (column) b1 %?
Options :

1. % C5

2. ® 5C

3. % 3E

4. ® E3

Question Number : 42 Question Id : 25498911474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the address of the 5™ row and 3" column in an MS Excel sheet?
Options :

1. % C5

2. & 5C

3. ® 3E

4. % E3

Question Number : 43 Question Id : 25498911817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In terms of printing speed, which of the following options describes the Ascending Order of different types of printers?
Options :

1. * Dot matrix > Inkjet > Laser

2. % Dot matrix < Inkjet < Laser

3. % Laser < Dot matrix < Inkjet

4. % inkjet < Dot matrix < Laser

Question Number : 43 Question Id : 25498911817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fiifen wits & deu 7, Fufafed # 3 iH-91 fawe It TeR & ekl & SRIg! 8 &1 9uH o=l 52
Options :

1. % Sic ARHT> Sholc> AR

2. + Ble ARy <TPHoie <aoR

3. % QoR<Sle Afeay <IHole

4. % $polc <Slc A<

Question Number : 44 Question Id : 25498911913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To reply to a comment in MS Word 2016, choose the comment you want to reply to and choose
Options :

1. % Reply
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2. % Reply To Comment
3. & Respond
4. % Respond To Comment

Question Number : 44 Question Id : 25498911913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 ¥ fardft fewqoft (@oive) &1 IR &7 & forg, 39 fewyoht (@dwe) &1 g ok T PR
Options :

1w s

2. ® s g Hlic

3. % WS

4, % IWIS T HHC

Question Number : 45 Question Id : 25498911943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
it I ST MS Word 2019 T e UFEE Tl 8|

Options :
1. & Uh
2. % Q)

3. & 9
4. % T

Question Number : 45 Question Id : 25498911943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The given figurs reprezents the column preset in ME Waord 2019,

Options :
1. *= one
2. % two
3. & Jeft
4. % right

Question Number : 46 Question Id : 25498911950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word H 99 T (Save As) fdwed & fore g & § o3 2iiéae $oft 82
Options :

1. % F10

2. ® F9

3. % F12
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4. % F8

Question Number : 46 Question Id : 25498911950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the shortcut key for the Save As option in MS Word?
Options :

1. % F10

2. & F9

3. % Fl12

4. = F8

Question Number : 47 Question Id : 25498913327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word & TRE B SSI@TS I & o e & 9 o5 =iicwhe o1 SuinT fasan o g2
Options :

1. % Cul+B

2.% Ctrl + U

3. % Cul+R

4. ® Ctrl + L

Question Number : 47 Question Id : 25498913327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following shortcuts is used to underline text in MS Word?
Options :

1. ®% Ctrl + B

2.9 Cul+U

3. % Ctrl +R

4. & Ctrl+L

Question Number : 48 Question Id : 25498919158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 H, B ¢g & fFufafad &  o1H-31 94g Iuds T8 87
Options :

1. fﬁﬂ’ﬂﬁ(Macros)

2. & W(Create)

3. % A I = R (Start Mail Merge)

4. % Wics ford 3R 1ot (Write & Insert Fields)

Question Number : 48 Question Id : 25498919158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following groups is NOT available in the Mailings tab in MS Word 2019?
Options :

1. % Macros

2. % Create

3. #% Start Mail Merge

4. ® Write & Insert Fields

Question Number : 49 Question Id : 25498919231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
d 9o (mail merge) ufhar & @3\’ TRUTH 'Letters' THR & GIATAS (document) P YT HRA P AT 3 (FALSE) fape 3 ugaH
B
Options :
1. % GA SIGgHT BT ST B |
2. % fohaft Creie 9§ gE B
3. % TiEl SiFgHe ¥ F B

4. v FIUT STFTHT HT ST TP & B |

Question Number : 49 Question Id : 25498919231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the FALSE option for setting up the 'Letters' type of document in the second step of mail merge process.
Options :

1. * Use the current document

2. & Start from a template

3. & Start from an existing document

4. % Start using the current document

Question Number : 50 Question Id : 25498925520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 , 'Ctrl + = iféche ol T T 82
Options :

1. % T8 HRdeR B! YaepY & =0 H g 5|

2. % g B PR A G ¢ |

3. % g PHRae B RIRBPE & =4 H g1 g

4. % Jg i< PR IG5

Question Number : 50 Question Id : 25498925520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does the shortcut key 'Ctrl + =" do in MS Word 2019?
Options :

1. % It makes a character as subscript.

2. % Tt keeps the font size same.

3. #% It makes a character as superscript.

4. % It increases font size.

Question Number : 51 Question Id : 25498932134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In , users not only hear each other but can also have a face-to-face conversation.
Options :

1. % videoconferencing

2. % blog

3. & SMS chatting

4. % email

Question Number : 51 Question Id : 25498932134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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T, I 7 Had Uh-guR DI G- Ahd &, Sieh SHA-ITH ardrar off # 9ad ¢ |

Options :

1.« ST HITHI=AT
2.

3. % SMS TfeT

4,

Question Number : 52 Question Id : 25498934440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

e # A f6g TR # Sexne Ja1 & U Hae A1 B 12 B SATaTb T T 8l 82

Options :

1. % ST (DSL)
2. ® Had

3. & SId-3U

4. " lqrEC

Question Number : 52 Question Id : 25498934440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following types of internet service does not require cable or phone lines?

Options :

1. % DSL

2. % Cable
3. % Dial-up
4. % Satellite

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

READING COMPREHENSION

2549896886
2

Online
Mandatory

1

1

5

Yes

Yes

0

1
2549896927
Yes

null

Question Id : 25498921085 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions.

Mother Teresa

Mother Teresa was born as Agnes Gonxha Bojaxhiu in Albania. She took the name ‘Teresa’ when she became a nun in 1929. When she
was eighteen years old, she sailed to India and started teaching at Kolkata’s Loreto Convent.
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In 1946, while she was on a train travelling to Darjeeling, Sister Teresa felt as if God himself was calling her to leave the convent and serve
the poorest of the poor. She stopped wearing the dress of the Loreto nuns and started wearing a simple white cotton saree with a blue
border. The saree looked similar to the dresses of Kolkata’s municipal sweeper women. By then Sister Teresa was an Indian citizen and she
soon became Mother Teresa of the Order of the Missionaries of Charity.

One day, Mother Teresa found a woman dying on a street, near a hospital. Her face was half eaten by rats and ants. Mother Teresa couldn’t
get her admitted to the hospital. This made her decide about starting Nirmal Hriday—a home for the poor and the abandoned, in 1952.

She started many other homes for the poor and patients of leprosy. She was one of the first to start homes for those who were suffering
from AIDS. Today, the Missionaries of Charity serve people in 105 countries.

The highest awards were bestowed on her—the Nobel Prize, the Bharat Ratna, the British Order of Merit, the Medal of Freedom
(America’s highest civilian decoration), and several others.

Mother Teresa said that she saw God in everyone and did not make any distinction based on religion.

She died on 5% September 1997. She was given a state funeral with full military honours.
Sub questions

Question Number : 53 Question Id : 25498921086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Mother Teresa was born in:

Options :

1. ®= Kolkota

2. & Darjeeling

3. %" Albania

4. % Britain

Question Number : 54 Question Id : 25498921087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mother Teresa decided to start Nirmal Hriday when:
Options :

1. * she was on her way to India

2. % she saw a woman dying on a street

3. & she was on a train to Darjeeling

4. % ghe became a nun in a convent

Question Number : 55 Question Id : 25498921088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mother Teresa adopted a dress that was worn by:
Options :

1. % the sweepers of Kolkata

2. % the Loreto nuns

3. & the Missionaries of Charity

4. = leprosy patients

Question Number : 56 Question Id : 25498921089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Place the following events in the correct order of their occurrence in the life of Mother Teresa, according to the passage.

A. Heard God’s call to serve the poor.

B. Started a home for the poor and the abandoned.
C. Decided to wear a white saree with blue border.
D. Became a nun at Loreto Convent.

Options :
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1. ¥ DACB
2. %= CDAB
3. # BCDA
4. = ACBD

Question Number : 57 Question Id : 25498921090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The world conferred the highest awards on Mother Teresa for her service in all of the following, EXCEPT for:
Options :

1. & starting Nirmal Hriday for the poor and the abandoned

2. % establishing the Missionaries of Charity

3. %" teaching at Kolkata’s Loreto Convent
4

. & getting up homes for patients of leprosy

Question Id : 25498921085 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

fau U TR Y U 3R TP SMYR W YA b IR <
ez o

TER ST 6T 9 SedT-1 H S MG SRR & &0 J g3 AT1 1929 T A () 74 TR I AT ATH U1 | 36RE T
DI MG H J YR o T IR HIABIAT & ARCI Bi-de H T L= (o |

1946 T, FF 3§ 7 J IR 7 amam o= gt o, Rive” 21 3 Aoy foran o S W $3R 3= di-ae Bie iR Aefan safaaa o
g?qTTGbH & o0 PR X5 811 3617 AIRCT -9 1 UIRND Gg1 9 PR, =iicl alex aTall U YIYRUI Woha Geit A1 Ug1 & B

|
g IIS] SIABTal TRUIIDT Bt Higwl ThTs Bl & Hus! ot fe@dt At | 3 db Riex g1 URAT AR 57 718 ot 3R Sieg
B ) oifs IR & MR Her X1 a9+ TS |

T 3T HeR T 7 U Al Y SRUATA & U Ueb TS UR WA B1 gTad B UTaT| ITHT ST AT 1 3R el gRT /T Sff
?%@Q@Wﬁﬁﬁﬁﬁl@ﬁ@%1952ﬁﬁﬁﬁ§?&-mﬁqﬁ?&ﬁ'$m@3ﬂ%@ﬂ/ﬂ?}aﬂﬁ
|

IBi RIS 3R T AR & o 5 37 31y YE U a8 TS 9 Hifsa aril o fog sy Iam™ aTal ugd aafaad! 8 9 U off|
3T, et 31T SR 105 320 & vl o) Jar HRaT g |

32 AT [IBR, HR Id THH, fafewr 3ifeR 3ifs Afte, g Asd 3t WisH (3R &1 gaie AN TwH), 3R &3 3
YT REHR fd|

HEX N1 A el b I gt & uy b1 3 3R 4wl & SMUR W Big Ne 781 foba |
3JIP1 38Td 5 RIdaR 1997 B g3 Ul 7 T & W1y I1 AoTb i 3ifad TepR farar |

Sub questions

Question Number : 53 Question Id : 25498921086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AR BITH _ Hgsnl
Options :

1. % PIBIdl

2. % gIfifefT

3.« 3fedT=aT

4. % foed

Question Number : 54 Question Id : 25498921087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
AR T A i gea Qe oA HI e qd fparsid |
Options :
1. % d YRd S IRAT W Ui
2. I5I1 P R Ueb Higdl Dl AR gU |
3. % 9 ¢ R GToiien &t Il R ot
4. % dPplde | I &

Question Number : 55 Question Id : 25498921088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR ST A TN U= SO Sl gRI g ot ot
Options :

1.« DB &b ThIgh !

2. % ARSI

3. % R oifws A

4. % P AR

Question Number : 56 Question Id : 25498921089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR & TR, HER ¢ & Siia &) MyfeRdd ge-1sfl &l 3% °e- & ol hH H W |
A. 3B TS B Yo B P ForT SR BT 31Tt b AT

B. 35 TRial 9 uRE! & [T T 319H (AR) B1 YIS B

C. 3B Aidl JTeR aTeht YW g WIS! B Ug=1 Y3 B &1 Huig fem|
D. d ARl dI-de &I U IR () &9 T |

Options :

1. % DACB

2. %= CDAB

3. % BCDA

4. ® ACBD

Question Number : 57 Question Id : 25498921090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FANATR MBI TSI TS T B Siga Fafared It ¥ gdie R veH fu|
Options :

1. % TRIS! 9 gRed! & fod i d gad 3 a—A & fore

2. & TR offts AR &t RuToAT & g

3. % HIADIAT & ARC] Pide H g & fag

4. % P AMGN & T 319 (TR) BT W & forg

QUANTITATIVE APTITUDE
Section Id : 2549896887
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
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Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896928
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 58 Question Id : 25498914304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Whal is the approsimale value of the given expression?
(Mofe: vou are not sxpactad to caleulate the exact value)

150 199 14
17 *13 ot
Options :
1. % 650
2. % 700
3. %770
4. % 820

Question Number : 58 Question Id : 25498914304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

E—Hﬁﬁ?ﬁﬂﬁ?%ﬁ%ﬁ{?)ﬂ?mwaqﬂimd HIeT 4T 25T SMET? (39! Hefeh #Je
T el e 1)

50, 099 18,

1 14 1
Options :

1. = B50
2. % 700
3 & 170

4, % B20

Question Number : 59 Question Id : 25498928986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A question is given, followed by three statements labelled I, IT and III. Identify which of the statements are sufficient and necessary to
answer the question.

Question:

What was the population of state ‘A’ in 2007?

Statements:

I. The population of state ‘A’ in 2007 increased by 12% from its population in 2006.

II. In 2006, the populations of states ‘A’ and ‘B’ were in the ratio of 2 : 3, respectively.

III. The population of state ‘B’, which was 12 lakh in 2006, increased by 8% in 2007.

Options :

1. % All statements I, IT and III.

2. & The question cannot be answered even with the information given in all three statements.
3. & Only statements I and III.

4. % Only statement II and either statement I or III.

26/39



11/11/2022, 10:01

Question Number : 59 Question Id : 25498928986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T N AR S A A e da sm R w S st T w A F
o wta & Fua sreeEE AT oA B deaER I 1 9aE F

2007 & w=w ‘A Fr Fagear = AT

I 2006 #F oA & 2007 F 7T AT Fr FAEE A O12% 1 3 a9

I 2008 & =g ‘A 3T 7o ‘B’ FeHwarHT # HETE 2 0 3 o

LUl 2006 & =0 B F Fewew 12 w fr Fwd 2007 7 8% & g gh
Options :

Lo |0t e
, x D FUE # A T A & AT s WS 7 3o AR Gdr S FWeew|

5 % ehaer | 3T

4w FEE |l |l F o e

Question Number : 60 Question Id : 25498928996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Solve e given two equations and select the cortect answer,

I (622 +171- (323 +200 =0
M By —10-(9" - 16)= 10
Options :

L& X<Y

P kXY

4w X = ¥ or the relatonship cannot be established.

Question Number : 60 Question Id : 25498928996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rw e s # o @i Be ge #) o wlel g A s A

I (822 + 17) - (3x2 + 20y = 0
. (Sy< - 12) - (9y° -18) = 0

Options :
L& X%
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2w XY
3.8 A ZY
4 o XSy, 3UET FEY T a8 B e wean

Question Number : 61 Question Id : 25498928997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the number from among the given options that can replace the question mark (?) in the following series.
2,4,10, 7, 82,244

Options :

1. %30

2. ® 48

3. % 28

4. ® 46

Question Number : 61 Question Id : 25498928997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FeFaTo T FE0 AEel W WeAES (7)o R 51 F0 HE T
2 4 m 7 82 244

Options :

1% 30

2. % 48
3 o 28

4 % 48

Question Number : 62 Question Id : 25498929063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A tank has two inlets: P and Q. Inlet P alone takes 6 hours and inlet Q alone takes 8 hours to fill the empty tank completely when there is
no leakage. A leakage was caused which would empty the full tank completely in ‘X’ hours when no inlet is open. Now, when only inlet P
was opened, it took 15 hours to fill the empty tank completely. How much time will inlet Q alone take to fill the empty tank completely?

Options :

1. % 40 hours
2. % 20 hours
3. % 30 hours
4. % 10 hours

Question Number : 62 Question Id : 25498929063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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e A A Pt o i s mE A Ty Ao SR P aere 6 o2 & Fam Q
¥e 8 Oet H o e &1 v o & Fwen, oo+ AW gen 7§ A ol ge & 00 wet A g
TF W & A §1 HeE, ofE FE A9 P oge @ A w6 W o mE ¥ A & 15 = F A
T T OO T 8 ¥ i O F Beer wEe (me A) St

Options :

1 & 40 EoE
) % 20 goT
3 % 30 g

4. ® 10 5o

Question Number : 63 Question Id : 25498929346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the angles of parallelogram is 45°. What will be the sum of the larger angle and twice the smaller angle of the parallelogram?
Options :

| x 280°

, x 224
3 224

4 x 222°

Question Number : 63 Question Id : 25498929346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FHAMIG TN WU #0745 §1 FRWET 90Ee 6 aF wor #T o w0 & @ I & oeT

areTT?

Options :

| % 268

2 & 224

3.9 225

4 % 222

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549896888
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
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Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896929
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 64 Question Id : 25498910347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tempest is related to Storm in the same way as Slim is related to:
Options :

1. % Fat

2. % Plump

3. % Slender

4. % Beautiful

Question Number : 64 Question Id : 25498910347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3ifeft 1 B U 961 Y'Y § S Tad BT qg
Options :

1. % He

= R

.--. g

=N W

v

Question Number : 65 Question Id : 25498912876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two letters in the word COUPLE have as many letters between them as in the English alphabet. The letter which appears first in the
alphabet is the answer. If there is NO such pair of letters in the word, then mark your answer as X.

Options :
l.% L

2.%0
3.®%Pp
4. %X

Question Number : 65 Question Id : 25498912876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

COUPLE Weg H &) U 31eR &, N7 ol I € 31&R & R 3ol qufaren & 39 o9 €1 quiATen # ugd 3 arall 31eR SR 2|
Ife T B T PIS 3eR T g1 ¢, A 30 IR BT X U fafgd a1

Options :

1L¥L

2. %0
3. %p
4. % X

Question Number : 66 Question Id : 25498919612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate description about the given set of words.

Sapphire : Ruby : Topaz

Options :

1. * They belong to the family of fishes.
2. % They are precious metals.

3. %" They are precious stones.

4. % They are used as abrasives.

Question Number : 66 Question Id : 25498919612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

feu T Tecl & e & IR A T Iugad f4aR01 &7 9 B
et - HIfOreh : gaRTS

Options :

1. % Y U3ferdl & uRaR J Tefa B

2. % YDA @A B

3. J BT TR B

4. % 3T IUGIT IYU & T H fHa1 Sran 3|

Question Number : 67 Question Id : 25498919680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third number in the same way as the second number is related to the first number and the sixth
number is related to the fifth number.

8:81::64:7::36:343
Options :
1. %125
2. %137
3. & 525
4. % 625

Question Number : 67 Question Id : 25498919680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
gﬁmmwﬁ@mmawmwm%aﬁmmmmasﬁvwmwmaw
I

8:81:64:?7::36:343
Options :
1. & 125
2. ® 137
3. & 525
4. % 625

Question Number : 68 Question Id : 25498920305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. % Harmony
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2. % Trouble

3. % Predicament

4. % Dilemma

Question Number : 68 Question Id : 25498920305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR W5, U TE B, O ¥ i 21 ol TR | Ueh S0 § STafth 91T Xeg ST § | SR WG BT 99 Y |
Options :

1. % G@ld

2. % gHigd

3. % GauM

4. % gfae

Question Number : 69 Question Id : 25498928153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, INDIA HAS WON FIRST GOLD MEDAL is written as JFZJU OUV SEF PIDVB REQZ ITZUQ. How will
DIESEL be written in that language?

Options :

1. % ZITVTQ
2. ® ZJTQVT
3. % ZJEVTQ
4. & BZTETV

Question Number : 69 Question Id : 25498928153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T fAf¥d @ WO H, INDIA HAS WON FIRST GOLD MEDAL @1 JEZJU OUV SEF PJIDVB REQZ ITZUQ & ¥ ¥ ferar Sirar g1 at
S YT & DIESEL &1 Y forar S

Options :
1. % ZJTVTQ
2. % ZJTQVT
3. & ZJEVTQ
4. & BZTETV

GENERAL AWARENESS
Section Id : 2549896889
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896930
Question Shuffling Allowed : Yes
Is Section Default? : null
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Question Number : 70 Question Id : 2549895249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following organisations is involved in providing insurance against various risks to exports?
Options :

1. & Reserve Bank of India (RBI)

2. % State Trading Corporation of India (STCI)

3. ® Export-Import (EXIM) Bank

4. % Export Credit and Guarantee Corporation (ECGC)

Question Number : 70 Question Id : 2549895249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frata & wefird fafta Sifadt & fo St UeM &= aTa SreHt # Fafafad 3 3 oF a1 wie- it g2
Options :

1. % YR f¥eid §& (RBI)

2. # ¥T fST HRURRME 3 $f$aT (sTCI)

3. % UaqUIe-3MIE (TfRmm) d%

4. « T9afd Bf$e 3R MRS A7 (ECGo)

Question Number : 71 Question Id : 2549899678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the rank of India in the 'Ease of Doing Business 2020' study conducted by the World Bank?
Options :

1. ® 75t

2. % 631

3, % gqth

4. ® 91t

Question Number : 71 Question Id : 2549899678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fay S R {52 U S1erae & SR "IN TGO (39 31Tt 11 fast¥) 2020" B YRA &1 RIF S A1 52
Options :

1. % 759

2. % 63

3. % 84d]

4. % 914l

Question Number : 72 Question Id : 2549899882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year was the Poona Pact signed?
Options :

1. % 1927

2. % 1930

3. % 1932

4. % 1936

Question Number : 72 Question Id : 2549899882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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T S TR gReR for I fad e
Options :
1. ® 1927
2. %1930
3. % 1932
4. % 1936

Question Number : 73 Question Id : 25498912767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

The winner of Indian Premier League (IPL) 2020 was:
Options :

1. ®% Chennai Super Kings

2. % Delhi Daredevils

3. % Kolkata Knight Riders

4. %" Mumbai Indians

Question Number : 73 Question Id : 25498912767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gfga iR o (1pL) 2020 Y fasiar ST D T 72
Options :

1. % 998 g [

2. % Sl sWefaed

3. % PIAPIAI AI5C ASSH

4.« 43 SfSTd

Question Number : 74 Question Id : 25498932126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following was the first speaker of the Lok Sabha?
Options :

1. # MA Ayyangar

2. % GV Mavalankar

3. % Sardar Hukam Singh

4. % N Sanjiva Reddy

Question Number : 74 Question Id : 25498932126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fafifad o ¥ SH deaqT F gyd 3regef 92
Options :

1. ¥ THY 3R/TR

2.+ Sild HIae D

3. % ¥R g g

4. % U9 ollq ¥g

Question Number : 75 Question Id : 25498932561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following articles of the Constitution of India provides that ‘it shall be the duty of the Union to protect every state against
external aggression and internal disturbance’?

Options :
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1. % Article 215
2. ® Article 275
3. % Article 325
4. % Article 355

Question Number : 75 Question Id : 25498932561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR Tfaum & g & § forg e o 98 wray far ma § o aredt seryun 3R siiafes sreiifa & faeg ude Isg &t
TR TG Y BT B gIT?

Options :

1. % 3fwa 215

2. % 3fWa 275

3. ® 34 325

4. %" TG 355

English Mock
Group Number : 2
Group Id : 2549894372
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
English Mock
Section Id : 2549896890
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896931
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 76 Question Id : 25498940809 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children
have fun during this process as they get to explore new arenas.
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Atmosphere is layers of gases that envelope a planet and is held in place by the gravity of the planetary body. The upper
atmosphere lies above the mesopause. Here temperatures can no longer be measured directly. A planet retains an atmosphere when
the gas molecules cannot achieve escape velocity and the temperature of the atmosphere is low which maintains low velocity of gas
molecules. A stellar atmosphere is the outer region of a star which includes the layers above the opaque photosphere. Stars of low
temperature might have outer atmospheres containing compound molecules. The atmosphere of Earth is composed of many dry
gases. Nitrogen and oxygen are the most common. Carbon dioxide and argon are also present in small number. Most organisms use
oxygen for respiration. Lightning and bacteria perform nitrogen fixation to produce ammonia that is used to make amino acids.
Plants along with algae and cyanobacteria use carbon dioxide for photosynthesis. The layered composition of the atmosphere
minimises the harmful effects of sunlight such as ultraviolet radiation and the solar wind or cosmic rays to protect organisms from
genetic damage. The current composition of the atmosphere of the Earth is the product of billions of years of biochemical
modification of the atmosphere by living organisms. As measured with a barometer atmospheric pressure is the force
perpendicular to a surface which is determined by the weight of the vertical column of atmospheric gases. For such an atmospheric
model the pressure declines exponentially with increase in altitude from the planetary surface. Atmospheric pressure decreases at
high altitude because of the diminishing mass of gas above the point of measurement. The density of the atmosphere also decreases
with increase in the altitude making breathing difficult as we climb up the mountains. The atmosphere of Earth consists of a
number of layers that differ in properties such as composition and temperature or pressure. The lowest layer is called the
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troposphere which extends from the surface of Earth to the bottom of the stratosphere. Three quarters of the mass of our
atmosphere resides within the troposphere. It is the layer within which the terrestrial weather of Earth develops. The stratosphere
is extending from the top of the troposphere to the bottom of the mesosphere. It contains the ozone layer. The ozone layer is the
layer where most of the ultraviolet radiation from the Sun is absorbed. The mesosphere is the layer wherein most meteors burn up.
The thermosphere contains the ionosphere which is a region where the atmosphere is ionized by incoming solar radiation. The
ionosphere increases in thickness and moves closer to the Earth during daylight and rises at night. It can reflect radio waves sent
from Earth allowing certain frequencies of radio communication over a greater range. The exosphere interacts with the planets
magnetosphere. Each of the layers has a different lapse rate defining the rate of change in temperature with height. Initial
atmospheric composition is generally related to the chemistry and temperature of the local solar nebula during planetary
formation and the subsequent escape of interior gases. The original atmosphere of the planets originated from a rotating disc of
gases which collapsed onto itself and then divided into a series of spaced rings of gas and matter that which later condensed to
form the planets of the Solar system.
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